
Erratum to Generalized outcome-based strategy classification: Comparing 

deterministic and probabilistic choice models (DOI 10.3758/s13423-014-0643-0). 

Benjamin E. Hilbig & Morten Moshagen 

 

In the Appendix of the article “Generalized outcome-based strategy classification: Comparing 

deterministic and probabilistic choice models” the equations for the EQW and TTB models 

were incorrect. The correct model equations are 

 

EQW (implement with e1 = e2 and e3 = .50): 

p(“B” | Item type 1) = e1 

p(“A” | Item type 1) = (1−e1) 

p(“A” | Item type 2) = e2 

p(“B” | Item type 2) = (1−e2) 

p(“B” | Item type 3) = e3 

p(“A” | Item type 3) = (1−e3) 

 

TTB (implement with e1 = e2 = e3): 

p(“B” | Item type 1) = e1 

p(“A” | Item type 1) = (1−e1) 

p(“B” | Item type 2) = e2 

p(“A” | Item type 2) = (1−e2) 

p(“B” | Item type 3) = e3 

p(“A” | Item type 3) = (1−e3) 

 


